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TI#R6-10
JUR-HERRFE T KEEERETE
I & HO® B TE | B4 HE
T
T
HEBIZEH=1.95m BEERE 20 0.108%0.108* 11
(0.60+1.80) *(1.95-0.05) /2%9.95- YUR=IERR 0.53%0.53% 7t
HRH 0.037%9.92-3.0 19.3 m3 [*1.7%2
L E - g 19.3 m3
BE (0.6+1.55) *1.58/2%9.92 16.8 m3
BEA L8 16.8 m3
BRERi A - 2 T
BET
BEERVU & 2008 15 m
B (R TS) 0.049 t |6.57ke/m
BEHIE (FETS) 0.049 t_[6.57ke/m
BEER1 EMHEE 1.42/25 0.6 m3 | BE1.42t/F
528 ik (8% AR CON) 0.6 m3
B AL IE (85 FHCON) 1.4 t
A N—+T
A 18—k
BEEERYKBRAZERER LY
A N—bkaH)—k 0.18m3/ & Ff 0.2 m3
KET
KET
ROTEHE -k 38 1.0 [Elsin
BEEERYKBRAZERER LY
EINRILEZEY(1:2 [E2.0cm) |0.84m2/EFT 0.8 m2
AHT
BEEREET
S iR ) BT (1.8%2) +(9.92%2) 23.4 m
t=5cm
528k (As) 1.8%9.92%0.05 0.9 m3
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TI#R6-10
JUR-HERRFE T KEEERETE
I & HO® B TE | B4 HE
FEMALIE (As) 0.89%2.35 2.1 t
HEBIHT
t=20cm
TERET 1.8%9.92 17.9 m2
t=12cm
FERRET 1.8%9.92 17.9 m2
®t=5cm
REET 1.8%9.92 17.9 m2
BRERIAET
EH%E hfm ) T (2.1+7.92+2.3)%2+2.4 27.0 m
FRBWE (As) 12.32%2.4%0.05 1.5 m3
FEMALIE (As) 1.48%2.35 35 t
AEET
TREEIE WEMLEL 29.6 m2
AEET Dt=5cm 29.6 m2
XEfRET
XE#RT
X E#REEE 1.0 =
XBFEES
XBEES
XEFEEEB 2A*3H 6.0 A-H




